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Q 1: If X = [image: image2.png]{8"-7n-1lneN}




and Y = [image: image3.png]{49(n-1)lneN}



, then 

	a)
[image: image4.png]



b)
Y

c)
N

d)
none of these



	Q 2: If [image: image5.png]RchAxB



and [image: image6.png]ScBxC



be two relations, then [image: image7.png](sor)?



 equals to : 

	a)
[image: image8.png]5-1gR-t




b)
[image: image9.png]R-1p5-t




c)
S o R

d)
R o S



	Q 3: If any one of the rows of the composition table for a binary operation * on a set S coincides with the top most row of the table, then: 

	a)
S has a left identity for*

b)
S has a right identity for *

c)
S has the identity element for*

d)
* is commutative and associative on S



	Q 4: For any complex number z, arg (z) + arg [image: image10.png])



is equal to : 

	a)
[image: image11.png]



b)
[image: image12.png]



c)
[image: image13.png]



d)
none of these



	Q 5: If [image: image14.png]


, then locus of the points representing the complex number [image: image15.png]3+z



is a circle with centre at : 

	a)
(0, 0)
b)
(1, 0)
c)
(2, 0)
d)
(3, 0)


	Q 6: [image: image16.png]


 is equal to : 

	a)
1

b)
[image: image17.png]



c)
2

d)
[image: image18.png]





	Q 7: If z = x + i y and [image: image19.png]2 +i]

-1



then z lies on : 

	a)
a circle

b)
a parabola

c)
real axis

d)
imaginary axis



	Q 8: If [image: image20.png]2,2,



and [image: image21.png]


are two pairs of conjugate complex numbers, then arg [image: image22.png]2 2,
2 lvarg|22
% B



equals : 

	a)
0

b)
[image: image23.png]



c)
[image: image24.png]



d)
[image: image25.png]





	Q 9: Read the following question and choose the correct choice for two statements, one is assertion (A) and other is Reason (R). You are to examine these two statements carefully and decide if the assertion (A) and the Reason (R) are separately true and if so whether the Reason (R) is correct explanation for the given Assertion (A). 
Assertion (A): One number 13 can not be the root of the equation   [image: image26.png]%4-5x%4+561x%-3:




.
Reason (R) : A polynomial equation with integral coefficient has only the divisor of constant term as its integral root. 

	a)
Both (A) & (R) are individually true and (R) is correct explanation of (A)
b)
Both (A) & (R) are individually true but (R) is not the correct (proper) explanation of (A)
c)
(A) is true but (R) is false

d)
(A) is false but (R) is true



	Q 10: If A is a singular matrix, then A adj. A is: 

	a)
identity matrix

b)
null matrix

c)
scalar matrix

d)
none of these



	Q 11: If [image: image27.png]


, then the value of r is : 

	a)
12

b)
8

c)
6

d)
10

e)
14



	Q 12: P, Q, R, S are to give lectures to an audience. The organizer can arrange the order of their presentation in : 

	a)
4 ways

b)
12 ways

c)
256 ways

d)
24 ways



	Q 13: A candidate is required to answer 6 out of 10 questions which are divided into 2 groups each containing 5 questions and he is not permitted to attempt more than 4 from each group. In how many ways can he make up his choice ? 

	a)
200

b)
225

c)
250

d)
275



	Q 14: Read the following question and choose the correct choice for two statements, one is assertion (A) and other is Reason (R). You are to examine these two statements carefully and decide if the assertion (A) and the Reason (R) are separately true and if so whether the Reason (R) is correct explanation for the given Assertion (A). 
Assertion (A): The product of 10 consecutive natural numbers is divisible by 9!
Reason (R): The product of n consecutive positive integers is divisible by (n+1)! 

	a)
Both (A) and (R) are individually true & (R) is correct explanation of (A).

b)
Both (A) & (R) are individually true but (R) is not the correct (proper) explanation of (A)
c)
(A) is true but (R) is false

d)
(A) is false but (R) is true



	Q 15: If the coefficient of [image: image28.png]


and [image: image29.png]


in the expansion of [image: image30.png](3+ax)?



are the same, then the value of a is: 

	a)
[image: image31.png]



b)
[image: image32.png]



c)
[image: image33.png]



d)
[image: image34.png]





	Q 16: If x is very large and n is a negative integer or a proper fraction, then an approximate value of [image: image35.png]


is : 

	a)
[image: image36.png]



b)
[image: image37.png]



c)
[image: image38.png]



d)
[image: image39.png]





	Q 17: Read the following question and choose the correct choice for two statements, one is assertion (A) and other is Reason (R). You are to examine these two statements carefully and decide if the assertion (A) and the Reason (R) are separately true and if so whether the Reason (R) is correct explanation for the given Assertion (A). 
Assertion (A) :   [image: image40.png](Jy2-1"



 can be expressed as   [image: image41.png]


 for   [image: image42.png]¥ N>1



 and   [image: image43.bmp] 
Reason (R): [image: image44.png](Jy2-1"



 can be written in the form   [image: image45.png]at+p 2V a,p



 are integers & n is a positive integer. 

	a)
Both (A) and (R) are individually true & (R) is correct explanation of (A).

b)
Both (A) & (R) are individually true but (R) is not the correct (proper) explanation of (A)
c)
(A) is true but (R) is false

d)
(A) is false but (R) is true



	Q 18: In a G.P. of positive terms, any term is equal to the sum of the next two terms. Then the common ratio of G.P. is : 

	a)
[image: image46.png]200518°




b)
[image: image47.png]sin18°




c)
[image: image48.png]cos18°




d)
[image: image49.png]25in18°






	Q 19: If [image: image50.png]


denotes the sum to n terms of an A.P., then [image: image51.png]-5
~Sn+1-5n
Sn+3-38n41



: 

	a)
0

b)
1

c)
[image: image52.png]



d)
2



	Q 20: The period of function [image: image53.png]fix)=sin2x x+x-[x]



is 

	a)
[image: image54.png]



b)
1

c)
[image: image55.png]



d)
none of these



	Q 21: [image: image56.png]


 is valid for : 

	a)
all [image: image57.png]®eR




b)
[image: image58.png][®|<1




c)
[image: image59.png][®|z1




d)
[image: image60.png]





	Q 22: [image: image61.png]L Bl [E0 e + 0]
Pl n



 is, where [ ] denotes greatest integer function : 

	a)
[image: image62.png]



b)
[image: image63.png]



c)
does not exist

d)
[image: image64.png]





	Q 23: [image: image65.png]


 is equal to : 

	a)
1

b)
[image: image66.png]



c)
[image: image67.png]



d)
0



	Q 24: The domain of the function [image: image68.png]00g5 %



is : 

	a)
[image: image69.png]



b)
[image: image70.png]



c)
[image: image71.png]



d)
(0.5, 1)


	Q 25: Let a, b be two distinct roots of a polynomial f (x). Then there exists at least one root lying between a and b of the polynomial 

	a)
f (x)
b)
[image: image72.png]



c)
[image: image73.png]



d)
none of these



	Q 26: [image: image74.png]wmz
1 lsin—cos x[dlx
o



 is equal to : 

	a)
0

b)
[image: image75.png]262-1)




c)
[image: image76.png]



d)
[image: image77.png]262+






	Q 27: The value of   [image: image78.png]2
J sec?tdt

[ L —
olh T wenw



 is : 

	a)
0

b)
3

c)
2

d)
1



	Q 28: The area bounded by the parabolas [image: image79.png]yZ=4ax



and [image: image80.png]=4ay



is : 

	a)
[image: image81.png]



b)
[image: image82.png]



c)
[image: image83.png]



d)
[image: image84.png]64a?







	Q 29: The differential equation of the family or curves [image: image85.png]y=2(x2 -1 +ce



is : 

	a)
[image: image86.png]T-2wr =4




b)
[image: image87.png]3
Y oxy=a
2y = 4




c)
[image: image88.png]32y




d)
none of these



	Q 30: The slope of the tangent to the curve at any point is the reciprocal of twice the ordinate. The curve passes through (4, 3), then the curve is a : 

	a)
circle

b)
parabola

c)
ellipse

d)
hyperbola



	Q 31: If [image: image89.png]


(x) = [image: image90.png]


(x) and [image: image91.png]


(1) = 2, then [image: image92.png]


(3) is equal to : 

	a)
[image: image93.png]



b)
[image: image94.png]



c)
[image: image95.png]



d)
[image: image96.png]





	Q 32: The solution of the equation [image: image97.png](2y-Ddr-(2x+3d




is : 

	a)
[image: image98.png]



b)
[image: image99.png]



c)
[image: image100.png]



d)
[image: image101.png]2y+1
7%-3






	Q 33: The order and degree of the differential equation [image: image102.png]i



are respectively : 

	a)
[image: image103.png]



b)
2, 3

c)
2, 2

d)
3, 4



	Q 34: The degree of the differential equation [image: image104.png]


is : 

	a)
4

b)
2

c)
5

d)
3



	Q 35: P(2, 1), Q(4, [image: image105.png]


1) and R(3, 2) are the vertices of a triangle and if through P and R, lines parallel to opposite sides are drawn to intersect in S then the area of PQRS is : 

	a)
6

b)
4

c)
8

d)
12



	Q 36: If the slopes of the lines 3x2 + 2 hxy + 4y2 = 0 are in the ratio of 3 : 1, then h equals : 

	a)
[image: image106.png]ESES




b)
[image: image107.png]



c)
4

d)
[image: image108.png]Al






	Q 37: [image: image109.png]I
Fz vz
#3 V3




 is the condition that the points [image: image110.png]




	a)
form an equilateral triangle

b)
are collinear

c)
form a right angled triangle

d)
(x2 , y2 ) is the mid-point of the line joining (x1 , y1 ), (x3 , y3 )


	Q 38: The locus of the points of trisection of the double ordinates of the parabola [image: image111.png]y

4 ax



is : 

	a)
y2 = ax

b)
9y2 = 4 ax

c)
9y2 = a x

d)
y2 = 9 ax



	Q 39: The eccentricity of the hyperbola [image: image112.png]Ix2-4y2=-12



is : 

	a)
[image: image113.png]



b)
[image: image114.png]



c)
[image: image115.png]



d)
[image: image116.png]





	Q 40: The directrix of the hyperbola [image: image117.png]


is 

	a)
[image: image118.png]



b)
[image: image119.png]



c)
[image: image120.png]



d)
[image: image121.png]





	Q 41: The product of the perpendiculars drawn from any point on a hyperbola to its asymptotes is: 

	a)
[image: image122.png]



b)
[image: image123.png]ab
Fiz




c)
[image: image124.png]02
a2




d)
[image: image125.png]a2 +b?
o






	Q 42: Read the following question and choose the correct choice for two statements, one is assertion (A) and other is Reason (R). You are to examine these two statements carefully and decide if the assertion (A) and the Reason (R) are separately true and if so whether the Reason (R) is correct explanation for the given Assertion (A). 
Assertion (A): The conic   [image: image126.png]


 represent a parabola, where   [image: image127.png]ab=z0




Reason (R) : The second degree equation Ax2 + 2 Hxy + By2 +  2 Gx + 2 Fy + c = 0 represent a parabola if   [image: image128.bmp] and H2 = AB 

	a)
Both (A) & (R) are individually true & (R) is correct explanation of (A)
b)
Both (A) & (R) are individually true but (R) is not the correct (proper) explanation of (A)
c)
(A) is true but (R) is false

d)
(A) is false but (R) is true



	Q 43: The equation of the right bisector plane of the segment joining (2, 3, 4) and (6, 7, 8) is : 

	a)
x + y + z + 15 = 0

b)
x + y + z - 15 = 0

c)
x [image: image129.png]-y+z



- 15 = 0

d)
none of these



	Q 44: If the straight lines x = 1 + [image: image130.png]


, y = -3-[image: image131.png]


, z = 1 + [image: image132.png]


and [image: image133.png]


, y = 1 + t; z = [image: image134.png]


with parameters s and t respectively are coplanar then [image: image135.png]


equals: 

	a)
[image: image136.png]



b)
[image: image137.png]



c)
[image: image138.png]



d)
0



	Q 45: The direction ratios of a normal to the plane passing through (0, 0, 1) (0, 1, 2) and (1, 2, 3) are: 

	a)
[0, 1, [image: image139.png]


]

b)
[1, 0, [image: image140.png]


]

c)
[0, 0, [image: image141.png]


]

d)
[1, 0, 0]



	Q 46: If [image: image142.png]T+2i42k, c=i+jeak



, and [image: image143.png](L+o) T +p(1+a) ]



+ [image: image144.png]p(1+a)(14p)E =B x (Bx o)



then [image: image145.png]o, By



are: 

	a)
-2, -4, [image: image146.png]



b)
2, -4, [image: image147.png]



c)
-2, -4, [image: image148.png]



d)
2, 4, [image: image149.png]





	Q 47: Let [image: image150.png]


be a unit vector, [image: image151.png]


a non zero vector not parallel to [image: image152.png]


. Then the angles of the triangle, two sides of which are represented by the vectors [image: image153.png]B a



and   [image: image154.png]


 are: 

	a)
[image: image155.png]



b)
[image: image156.png]



c)
[image: image157.png]



d)
none of these



	Q 48: The correlation coefficient always lies in the interval : 

	a)
[image: image158.png]



b)
[image: image159.png]



c)
(0, 1)
d)
[image: image160.png]





	Q 49: Read the following question and choose the correct choice for two statements, one is assertion (A) and other is Reason (R). You are to examine these two statements carefully and decide if the assertion (A) and the Reason (R) are separately true and if so whether the Reason (R) is correct explanation for the given Assertion (A). 
Assertion (A) : If lines of regression y on x and x on y are respectively y = lx + 4 & x = 4y + 5 then   [image: image161.png]



Reason (R):   [image: image162.png]




	a)
Both (A) & (R) are individually true & (R) is correct explanation of (A)
b)
Both (A) & (R) are individually true but (R) is not the correct (proper) explanation of (A)
c)
(A) is true (R) is false

d)
(A) is false (R) is true



	Q 50: If the angles of a triangle are in the ratio 1 : 2 : 3 the corresponding sides are in the ratio: 

	a)
2 : 3: 1

b)
[image: image163.png]J3i2n




c)
[image: image164.png]2:.3:1




d)
[image: image165.png]1:43:2







______________________________________________________________________________

Contact No. 9766616435

Page 1 of 5
______________________________________________________________________________

Page 5 of 5

